k. AN
TWO J0P-~ANP o 13

DIFFERENCE CIRLUIT
*'WR}

R\

o

V. -Va L U@-u& 4 Vo ~Vp -5 THS {5
R2 F R, THE LoMé&
Vp - - why - BuT
Aﬁ ) - @UE Ve <o IT WORKS
I ‘ Y

RRVe —RiRyUp + RR Vg ~RE A + FakyVo - Ry Vp =0
R\RLUA"‘ R\RZVB — EZ Rs\jg o ﬁ"ﬁz\lc .,,Q‘Rave = O

VO = [( K\RZ - R1R3 4~Q2ﬁ3\\1p‘_ - Qigzifg - nggvéa/gz,gﬁ
VC.. =Rﬁggz LS +ez,a_?)U$ ““ E\EZ.UP?]/Q\ ES

Vo [ (%, Ry &% ﬁj 1&;&'&\ Uk... R Eﬂ& ( R, RL-HK Rs #R-‘ﬁz) ‘Jg - R ﬁg_ Jg;

N
‘uB} EK Rz_ + R {23 *-f:g,ﬂ /% ks

\10‘3(\)#“}83[\ +_R§1 s 29%3

Vo

1 Rg




12 {31147
ke, KU KN

1, DERIUE THE TRANIFER FUNCTON G IVEN ROR
THE FOLLoWING CIRCUIT,

S
2

Ra Re '}_VZ(—_L.‘)(
Vg AN . R, *+R Ry HR4-
Rz Rﬁ.

2, DETERMINE A SET OF RE SISToRs To
- IMPLEMENT TRE FolLow e TRANS RER ﬂuu{:mq

lp= 2,85V +2.19V, ~2 .40V, ~ 164y

 DBRIVE THE PESIGN ZAUATONS £oR THLS
CIRCOIT, USE RATI0S To BLIMINATE
ONNECCESARY VARIBELES., T.8,
e Ny DoBS THIS

Choose R, THEN R = Kk, R D s
Chiose Ry, THEN Rg= KRy ) SIMPLIRY MINGS D
ALSo RRPRESENT THE TRANSRER RuNCT ol AS
\JO: G;V; "f"é“z Vz_ - (:—3\}3 - G-q.l/é. f
NOW THE TRANSFEBR EQuATIoN CAN REB SAdLUBS
FoR K, | ke, AND Rg . FROM K ANQ f, WE
OBTAN R, AND Rg,

ONB saluTioh:
R -k B =ik Riz ISk Rem 22k Ro= 34k




GENERAL DIFFERENCE CiPculT

(2 3197 |
<. KUH-N

DERINRE THE TRANSRER FUNCTION &iUBN ROR THE
FOLLO WiNG CIRCUIT,

R

R 3 . R R3
VZ I ¥ V. — m—-’--——--
F R4

DERWE THE DEM&N EQUATION! FoR THIS m@awf

GIVEN; Va = G' Vl GQV&J ~IND R QLJEM‘Q@' Qj‘
NOTE; DEPENDING oN UBLUBS RoR &, #6, 1T IS

—
|

- POSMBLE FoR CITHER R, OR Re To BRE
CINRNITE (LB, NoT NEEDED),
0SB R,=Ry= [0k AND DETERMING Ry R Q;MK
oz 10¥ = Uy
I sV -2V,
o= 3V - 3,y
Vo = 2y - SV,

Vo = V; - {QUZ

CHECK BACK RBSULT BY SURSTITTING (NTD THE
 GBENBRAL TRANSFER FunNCTioN ARAUE,



